



16th October

9% of 7,000

$$\begin{array}{r} 10\% - 700 \\ 1\% - 70 \\ \hline 9\% - 630 \end{array}$$

630

$$2\frac{1}{8} - \frac{1}{4}$$

$$\frac{17}{8} - \frac{2}{8} = \frac{15}{8}$$

$$\frac{15}{8} = 1\frac{7}{8}$$

$$19 \times 345 = 6,555$$

Use this multiplication to complete these calculations

$$190 \times 345$$

$$6555 \times 10 = \underline{65550}$$

$$19 \times 34.5$$

655.5

$$20 \times 345$$

$$6555 + 345 = \underline{6900}$$

Put brackets into the calculation to make it true

$$6 \times (7 + 3) - 8 = 52$$